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Section A

Questions 1 to 20 carry 2 marks each.

For each question, four choices are given.

One of them is the correct answer.

Choose the correct answer and write its number (1, 2, 3 or 4) in

the brackets ( ) provided. '
(Total: 40 marks)

1.  Whatis the missing number in the number bond below?

(1) 5 (2) 2
(3) 3 (4) 8 ( )

2. Huiling-has:2 yellow. pencils:and 7 blue pencils. How many

pencils'does she have altogether?

(1) 5 (2) 9
(3) 14 4 27 ( )

A2



3.

What is the missing number in the box below?

(1) 1 (2) 2
(3) 11 4) 12

)

elephant Zebra

rhinoceros. giraffe

The is the 4th animal from the right.
(1) tiger (2) giraffe
(3) rhinoceros (4) zebra

e Wy

tiger

&



There were 13 mangoes on a plate. -Aunt Lucy gave 5
mangoes away. How many mangoes were left on the plate?

(1) 5 (2) 8 -
(3) 12 (4) 18 ( )

How many circles are there in the figure below?

00000

(1) 5 (2) 6
3) 9 (4) 10 ( )



7.

The length of 2 toy cars is about

erasers long.

(1)
(3)

1
3

§ eraser

(2 2
(4) 4

The tinis as heavy as D .

(1)
(3)

1
6

tin

A

2 5
(4) 4

24



10.

11.

12.

Which of the following numbers is between 13 and 15?

(1) 12 (2) 2
(3) 14 (4) 16 ( )

78 is the same as tens 18 ones.

(1) © (2) 7
(3) 60 (4) 70 | )

Study the number pattern below.

44, 36, 30, ? , 24

What is the missing number in the box?

(1) 25 (2) 26
(3) 27 (4) 28 ( )

Study-the:pattern-below. What does Y stand for?

15 Y 27
4| 516 6 7 8 8 9 | 10
(1) 17 ’ (2) 20
(3) 21 . (4) 22 ( )



13. There are 4 muffin

$ On each plate. How many muffins are
there on 5 plates?

o N2
NSl

( = L) -y
NS I

(1) o (2) 16
(3) 20 (4) 25

14. A bag has 7 apples. How many apples do 3 such bags

have?
(1) 10 - “{2) 14
3) 21 (4) 28 { )

>p



15. Whatiis the time shown on the clock below?

186.

(1) halfpaste (2} halfpast7
(3) halfpasts (4) halfpast9 ( )

Mrs Li baked 14 pieces of gingerbread man. She wanted to
give 3 pieces of gingerbread man to each of her 6 children.
How many more pieces of gingerbread man would she need
to bake?

(1) 8 ) 9
(3 3 . (4) 4 ( )



17.

18.

Look at the pictures below.

Pencil

30¢

Nicole bought two erasers and a pencil: How much did she
spend?

(1) 70¢ (2) 60¢
(3) s50¢ (4) 4o0¢ ( )

Liwen has 6 one-doliar coins. How many fifty-cent coins will

she get if she exchanges all of them for fifty-cent coins only?




19.  Dickson has 12 oranges. A basket can hold 3 oranges. How
many such baskets would he need to hold all the oranges?

(1) 36 2 15
(3 9 (4) 4 ( )

20. The picture graph below shows some children’s favourite
types of books. )

Our Favourite Books

©
=

Picture. .{ Comics.. | Jokes Fairytales.

Each @ stands for 1 child.

How man'y more children like Comics than Fairytales?

(1) 1 (2) 2 -
By 3 (4) 4 ( )



Section B

Questions 21 to 40 carry 2 marks each.
Write your answers in the blanks provided.

(Total: 40 marks)

21 Study the picture below and complete the number bond.

36
K%
o

22.  Min Xuan has 2 Po

kemon cards. Min Guan has 5 more than -
he. How many Pok

emon cards does Min Guan have?

10



23. There are 7 beds in Shop A. Shop B has 2 beds fewer than

Shop A. How many beds are there in the 2 rooms?

-

24.  Aunt Penny has a total of 8 pairs of shoes as shown below.
How many pairs of jogging shoes does she need to buy if

she wants to-have 4 more pairs of jogging shoes than ballet
shoes?

Ballet shoes

11



25. There are some hearts on 3 ribbon. Abi

gail folded the ribbon.
How many hearts are hidden?

VINIVIVIIVAE
1 !

3" from the left

4" from the right

26. Mrs Tan needs 17 eg

only 6 eggs. How man
cake?

gs fo bake a birthday cake. She has
y more eggs must she buy to bake the

12




27. Look at the balance below. The sum of all numbers on each

side of the balance must be the same. Which of the numbers
in the circles below should be added to each side of the
balance? Write your answers in the boxes provided.

QOO




28. Study the pattern below. Circle the shape in the box that
comes next,

?

29. The length of the ruler is about

shorter than the length of 3 pencils.

e R T AR |

ruler

[i!iiillH}lliiji!ﬂ,{Hl]!li!]i!IlfHH‘il!l[iﬂi[!lli[iiilil!l!}i]ifl!l!I]IHl]ilHilHl]iiH!lH:

14



30. Compare the masses of Box A, B and C below.

Box

Box

31. Jamil has 2 sets of marbles as shown below. How many
marbles must be moved from Set B io Set A so that both

is the lightest.

is the heaviest.

sets have the same number of marbles?

A

Q@
©

O
O

Q@
©)

©

o

©
©)

B

Q O
@@
o ©

15




32.

33.

There are 4 jars of sweets.

Jar A has 68 sweets.

Jar B has 89 sweets,

Jar C has 98 Sweets,

Jar D has BSV-S;Weets.

Arrange the jars beginning with the jar with the least number

of sweets. Write A, B, C and D in the boxes provided. The
first one is done for you,

Least

What is the missing number in the box?

3 5
1?2109
6 4

16



34.  Study the figure below. What is the missing number?

&

35.  Study the pictures below and write a multiplication sentence.

17




36. A car has 4 wheels. How many cars are there if there are 24

wheels?

37. For every 5 cou
Katty won 15 co

pons won in the funfair, a child is given 3 stickers.
upons. How many stickers would she get?

Number of 5
Coupons _
Number of 3
Stickers

18



38.

Look at the clock below.

Actual Time

Which clock below shows the ti
the actual time? |

me that is half an hour faster than

19




39. Johnny used & coins
Cross the 6 coins he ha

to buy the box of chocolate below.
d used to buy the box of chocolate.

20



40. The picture graph below shows the favourite cclour of some children.

Our Favourite Colour

Blue

Green

Yellow
Orange

Each stands for ‘Lg!c?oLJ

(a) The number of children who likesired is

(b) The number of children who likes red is the same as the total number

of children who likes green and

21



Section C

Questions 41 to 45 cairy 4 marks each.
Do these word problems carefully.
Show your working in the space provided.

(Total: 20 marks)
41. Each O stands for 1 unit.

a) The mass of alemon is about . , units.
b) -The mass of a strawberry is about . units.

¢) The mass of 2 pears is about units.

22



42. Mrs Jones had 40 stamps. '
She gave 15 stamps to Mary and 16 stamps to Peter.

{a) How many stamps were given to Mary and Peter?

L IOL]-I

Mary and Peter were given

stamps.

(b) How many stamps did Mrs Jones have left?

O

Mrs.Jones had

stamps left.

23



43. Devihad 8 sticks of fishbalis.

She gave 3 sticks to Jane.
There were 4 fishballs on each stick.

SIS

(a) How many fishballs did Jane receive?

O-

Jane received

fishballs.

(b) How many fishballs had Devi {eft?

1O-[7

Devi had , fishballs left.

24



44.  Keng Seng bought a shirt and a pair of socks.

He gave the cashier some five-dollar notes and some one-
dollar coins.

(a) How much did Keng Seng spend?

s| [O8 |-s

He spent'$

(b) How many five-dollar notes and one-dollar coins did
Keng Seng give the cashier?

He gave the cashier five-dollar notes and

one-dollar coins.

25



45.  The picture g

children have.

—

Hassan

Sally

Muthu

raph below shows the number of sunflowers that 4

Number of sunflowers each child has.

NAAVEVES,

—

VY

Xi Min

a) The children have 14 sunflowers altogether.

AVES,

e

Each Q stands for 1 sunflower.

sunflowers Sally has in the above graph.

(b) How many sunflowers do Xi Min and Hassan have altogether?

O] -

They have sunflowers altogether.

© End of Paper @
Please Check Carefully

Setters: Mdm Jean Lai
Mrs Siephanie Teng

26

Draw the number of



Answer Sheets

Nanyang Pri 1 SA2 /2006 Mathematics

D 1 2 2 3y 1
6 4 7 4 g 4
1) 2 12) 3 13) 3
16) 4 17) 1 18) 3
21. 4
:>>9

5

23. ShepB = 7 - 2 = 5 beds
7 + 5 = 12 beds

25. Left =3-1=2

Right= 4 — 3 = |

2 +1 = 3 hearts are hidden.

27.
S
3 6
2 " 4
A
29, Ruler—7—5—2[:|
shorter
2 x3=6 [ shorter

4 4
9 3

14) 3
19) 4

22,

24,

26.

28.

30.
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5 2
10) 1

15) 2
20) 2

2 + 5 = 7 Pokemon cards
Min Guan has 7 Pokemon cards.

2

= 17 jogging shoes
llet shoes
— 3 = 4 more pairs

-3
=2
5_.
ba

-qu-n.m
I+

17 — 6 = 11 eggs.
She needs 11 more egos

.
>

Box B is the lightest
Box C is the heaviest

2_pairs of jogging shoes.

a



31.

33.

3s.

37.

39.

41a.
41b,
41c.

42a.

42h.

Set A = 6 marbles 32.
Set B = 10 marbles
10 - 6 = 4 marbles
4 + 2 = 2 marbles

64 ~ 35 = 29 34.
7x3 =21 36.
5 coupons = 3 stickers 38.
10 coupons = 6 stickers
15 coupons = 9 stickers

40a.

R e e
3, rx ,@*ﬁi @ P o
T Yege

Lemon= 6 — 2 = 4 ynits
Strawberry = 4 — 2 = 2 units
Lpear = 9 - 2 = 7 ynijts
Tpears = 7 x 2 = 14 upits

IS5 + 16 = 3t stamps
Mary and Peter were given 31 stamps.

40 — 31 = 9 stamps
Mrs Jones had 9 stamps [eft.

Page 2 of 3

Least
JarA JarD JarB Jar C

40 - 10 = 30

4wheels = 1 ¢ar

24 wheels = 24 + 4
= 6 cars

Red = 6 children

Yellow

50



43a. 1stick = 4 fishballs,
3sticks =4 x 3 =12 fishballs.
Jane received 12 fishballs,

43b. 8 x 4 = 32 fishballs
=32 -12
= 20 fishballs left
Devi had 20 fishballs left.

44a. $18 + $4 = $22.00
He spent $22.00

44b. $5.00 x 4 = $20.00

$1.00 x 2 = § 2.00
He gave 4 five-dollar notes and 2 one-dollar coins

e NVIVIVIv

45b. 3 + 5 = 8 sunflowers
They have 8 sunflowers altogether.
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